AT HE&E

N

iR

7

i 2%

FIREER T D : 4b44918F

THRAERE E 140

ERJR T |

T s 1 = s 2 e T
TEHEX Sy « THE - fEy - Hul SRR HAT S (A | s (40D e e e
T
N 1
EMRE T
= 1
S BEE L T
i 1
SEERR BT AsEFIERR  t=15cmPL T
m 14
SRR A AsEREERR /AT
m2 6
/) -MEEY BUE L MRS Bkt
3 20
) -MEEYBOE L M= N L
3 3
B & = T N
i 1
5 2R (KR - v 5 LA i s 2)-MEBA PR AR 2m
m 111
TERALPE T
N 1
T e A1 AsHE
m3 0.3
ALy A sk
n3 0.3
TR IE T Co CEERS)  FEMMG L.
3 20
kTR Co (TEf) A JIfE T
m3 3
RISy Co (FEF)
n3 23
5B AL 7y S EZ @ E10. 9kg/m
= 1
W+
=N 1
P T
= 1
PEH] Ta> A OIiEH]
3 90
AARIEE L Hos FOIEAT WRERRE CE OB
L 3 60

R



O O

RN TR ERIER FIRPSHEE T D : 4b44918F

i | AT BT TR AT |
YEFIIRT) 1R =S Uit e s 1.5
T XSy « TAE - fliR) - ARl A HAT S (A | s (40D e e e
T T T
N 1
TR E R T B~ RIEY; B AR
n3 80
TR E R T BiG~ES BGHRNS 0
3 10
ERESRIT T RES~BY FA-A
3 100
TR T B~ Al o5 F5E L
m3 100
T RDEEE Trb B~y H REA-A
3 210
PR Y U REPE T
3 210
TR O BEBARIA  FHIAV-A
m3 60
f R Y A A
3 60
R L
N 1
EELT
=N 1
RIE Y trp e bR OREE R
n3 210
RIE D ER TR T HESEY)
3 10
HWEREL i R ORH RN ImPA_E4mAR T
m3 100
EEE L
= 1
IR YA Y AN EZ TR VAETYE )
= 1
V=17 ny ) EERE 18-8-40BB  PE X 350
m 82
KHELT ny ) F& 2 % 350
B n2 232
ARG C-40
m 83
K,/ J)—} 18-8-40BB
m 85

-2- R



O

O

Sobr EL G 1% D : 4b44918f
— zlij:%;&%“ﬁj%i% sliuit T RIRR AT o |
LA ZE?ﬂﬂif@?ﬁé%@d@l? — —— TTRENN =W fig
e YR A TR T B Ko (miilaD) | B (SED | B
EpizA EFHEAR t=10m L 1
RO (1) 18-8-40BB - 1
TEE @) 18-8-40BB l%l’ . )
T (3) 13-8-40BB L%. . )
PEB: T = 1
7 VAN (&7 1
AsERE L = 1
EEIRNIEYYIE S o 40
ATRAZEIR BB T LB o 40
KR & N Ly -k e 30
FEEMTEA Iy by 1,490
K AL o 40
K e 1
TR P T e 1
R T 18-8-40BB t=20cm B -
TR L . 1
AT HRRE T e 1
He A HufRE 18-8-40BB - )
B A T e 1
TR CEFD B I?%_m 2/))-MEEA T SRS, Om H N 101

R



O
A TR

7

i 2%

FIREEE T D -

4b44918f

SRR E 14

T | e 1 e — At P s T

ERJR T |

_ TEXZy - TR - fihI - Al ks HAAL S (A | s (40D e e i 2
B . Om/T BAMIBE H=L. Im "
2
FH 3R 2. Omi P9 EE  H=1. Im "
1
FH R 3. Om P9 EE  H=1. Im
D 2
SREET
N 1
TAT 7V MNEREE T
=N 1
T AR (FE - B E R) AR A (RC-30)  t=10cm
n2 28
I FEAE CREE - A o) Bz T A (-30)  t=12cm
2 28
kg (BE - BE) EAEBRIEAs (13)  t=3cm 1. 4mASis
PK-3 2 28
2/))-p 1
i 1
BV -} T
N 1
FUENZIE 18-8-40BB  t=10cm
=N 1
ax T.
i 1
ERR T AT
N 1
KEI+D 5 ITES
=N 1
wmE o> ITER
K 1
W IEPEKE HE-fE =R ES 7V ¢ 800
HFEFE30% Y 1
TEKY=F BE/KY—FA (J&E1. 0+10. Omm)
=N 1
ERALEL T
X 1
RO 1% S Z m 2. 3kg/ N
= 1
TRV LSy % 2. bkg/m2
= 1

|
o~
|

R



O

O

Mol LGN .
_ AR T H iR ih R FIRIAEE 1 D : 4b44918F
T4 SIAEE B 145 %@;&%%_
HEI R =S el 7 s T2
ﬁ{%%JJ:II$[X§7\ - TfE - FER - AR BTk LT B (gim) | #ow (A0a)) R B S
e
N 1
VBB LT /A ERE - TE FJR7e—F ¢ 300 1xX20 -
SIIETRAE 10004 1 B #5102 H = 1
KT
i 1
JEREIEEIFIN
N 1
R -
=N 1
Ak B B 8 i B ELB
i 1
TR TR -
N 1
AR -
=N 1
B e d ¢ A
i 1
A {r
N 1
g (GBE B
=N 1
TR -
i 1
AT -
N 1
TR -
=N 1
— B
= 1
TR -
= 1
T P N OVHi 5 T 2% Bofe 24 %8
=N 1
TEE =
=N 1

R



